QuizIT General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 9/26F 9:30am form A quiz #

Name k PAhr Name
(print name) oY g (sign name)

Please show all work for full credit and to get partial credit. Na=6.022 x 10%

1. Give the nomenclature term or number prefix or give the molecular formula which matches for the
following. (4 pts, 2pts each)

# prefix for 8 ‘W hydroxide O “"
I
2. GiveWrthecompoundSFs (4 pts) E Mlé&[ﬁj A EKQ £tr{4 &fd(’

Cov —H pretix

sulfur SlumMS@ + (de = Fluovide 6=hgy
3. For the molecule given, what is the formula mass ? f (n 4r [ amu (2 pts)
What is the molar mass? { G 4’: ( grams (show work). (2 pts) Ca (NOs)2

:,LC?-* 2N+ § 0 Cas 4005 V= /4,0,/_92/6,00

40,08 + L({\é/,,m) + C(1609 _ 44

4 For the molecule shown below (molar mass(NHq)2 § = 68.17 g/mol ), if you have 7.92 grams of
the compound (NHg), S what is the number of atoms of H in that number of grams of the congpound

(8 pts) Show work to receive full credit. M’_ /}_

§ ql%@/udz;k h-»&é @/Ug);ﬁ} X & hol /ﬁ‘ QOZZ}C/&’;?;
A 710 WY\} it

/rnsliwde _ ,
@/W?)g,s nas 4&2 ._ym,\ﬁ

Extra Credit: Given the following balanc;ed reaction, give the number of each type of atom or polyatomic
ion on each side of the reaction by filling in the blanks. Show work for partial credit. (3 pts)

2KI + Pb(NOs) > Pbl + 2 KNOs
# of K ators (reactant) _2__ # of NOs™ (product) 2.__



Quiz III General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 9/26F 9:30am form B quiz #

Name K @(’y Name

(print name) 7 (sign name)

Please show all work for full credit and to get partial credit. Na=6.022 x 10™

1. Give the nomenclature term or number prefix or give the molecular formula which matches for the
following. (4 pts, 2pts each)

NOs3 H { 'é\/\m& octa is the number pref ix for dP

2. Give the name for the compound MgBrz (4 pts) }‘*\ﬂ,@ A € Sl' W b"‘ Oy 6((
watl‘v Ct./lw\

M{}heS:tm= b ﬁ]f’d{ b‘”ﬂm"d{

Onic - ho " FPIre
3. For the molecule given, what is the formula mass ? / 4— 4 @) /) amu (2 pts)
What is the molar mass ? [ lf' 2, 0 /) grams (show work). (2 pts) Naz SOq4

2Nt 1(51" 4%
|
2460 3207 (LO0
2(25. G0 + 201 + “(16,00) = [ 42,07

4. For the molecule shown béF w (molar mass of Mg(CzEl'sO;)z = 142 .41 g/mole), if you have 1.99
grams of the compound Mg(C2H302)2 , what is the number of atoms of C in that number of grams of
the compound (8 pts) Show work to receive full credit.

1,295 h\SLCC;, PON il s (Clsl), 4l C

(414l 5 [
(.02 " atong CMCCiH}M M/écz ),
: [ hadt - ;;?K/OW’“\;C

;'er(@/UJ'L “\ﬁ; (<, k), has L*2
Extra the following balanced reaction, givé atom on each side of

the reaction by filling in the blanks. Show work for partial credit. (3 pts)

C;Hs > 4H, + 3C

# of H(reactant) g #ofH (PTOdUCt)_£4‘ &



QuizIIT General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 9/26 F 10:30am form A quiz #

Name / L f/(ﬁ,- Name

(print name) (sign name)

Please show all work for full credit and to get partial credit. Na= 6.022 x 107

1. Give the nomenclature term or number prefix for the following or give the molecular formula which
matches. (4 pts, 2pts each)

Carbonate COZ di is the # prefix for 2
2. leethcnameforthccompound Cas (PO4)z (4 pts) (-’Ol Cl Wi D/\ 05}?%
b —<al Cy i J “lonic ~e
W-—*p@%a/’b‘%\cc [ P 0 50 1~ ——ﬁpfeﬁ/b
amu (2 pts

3. For the molecule given, what is the formula mass? C‘Z [ ﬁ

What is the molar mass ?_ G2/ 0 orams (show work). (2 pts) (NHa) O

Z N, ?&, 10 — M= ol H—(,0,# 140l
l(l o) + &(100+ {600 S2,(0

Y &+ o

4. For the molecule shown below (molar mass of Ba (NOs)z = 261.35 g/mole), if you have 78.2 grams
of the compound Ba (NOs)z , what is the number of atoms of O  in the grams of the compound (8
pts) Show work to receive full credlt

nel ra(n03),
0
Ny, 13 Ba(N0Py x 2@35"3 X

2L
onxulbtonst _ | op it O

T (nel0

rm(m); CZJ 3*2 = b 2t

en-each Side of

2Na+ 2H,0

# of H(reactant) th ;? Al '. ? ~ ?



Quiz ITT General Chemistry I Lecture Fall 14 Dr. Hahn 20pts 9/26 F 10:30am form B quiz #

Name /( [7 y Name

(print name) —J (sign name)

Please show all work for full credit and to get partial credit. Na=6.022 x 10%

L Give the nomenclature term or number prefix or give the molecular formula which matches for the
following. (4 pts, 2pts each)

sO2 91 ( :ﬁwé@ # prefix for 3 is "é!/‘ {I

& Wk

2. Give the name for the compound HBr (4 pts) A (/}/)/ v j—, e~/ C Q¢ /

Ay oo o oacd
3. For the molecule given, what is the formula mass ? Z ?5 (f’ 5 amu (2 pts)
What is the molar mass ? Z')\S Q/; grams (show work). (2 pts)  Ba(C:H30:2)2

C @f@ %—l%’ﬁﬂc 12,0l
:U}a 5 = Lo = [4.00

(a,g;z\; ¢ 44(8_(01) + ég,01)+ 4({@6,00) = Zﬁ\w

4. For the molecule shown below (molar mass Li; SO4 = 109.95 g}’mole) if you have 0.892 grarns
of the compound  Lis SO4 , what is the number of atoms of O in the given # of grams of the compou
(8 pts) Show work to receive full credit.

. - Y,
0,84 %%M & }*“”é""_}( GOZL)C/D

Kk
les L, 2 S04 (o504 /w—ﬂjé}

(99w /ol%w

Extra Credit: Given the following balanced reaction, give the number of each type of atom or polyatomic
ions on each side of the reaction by filling in the blanks. Show work for partial credit. (3 pts)

2 HNO; + Ca(OH): 2 2H,0 + Ca(NOs):

# of OH' (reactant) 2 # of NOw (product)



Quiz I General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 9/26 F 9:30am form A quiz #

Name Name
(print name) (sign name)

Please show all work for full credit and to get partial credit. Na=6.022 x 10%

1. Give the nomenclature term or number prefix or give the molecular formula which matches for the
following. (4 pts, 2pts each)

# prefix for § hydroxide

2. Give the name for the compound SFs (4 pts)

3. For the molecule given, what is the formula mass ? amu (2 pts)
What is the molar mass? grams (show work). (2 pts) Ca (NOs)2

4. For the molecule shown below (molar mass (NHs)2 S = 68.17 g/mol ), if you have 7.92 grams of
the compound (NH4)2 S what is the number of atoms of H in that number of grams of the compound
(8 pts) Show work to receive full credit.

Extra Credit: Given the following balanced reaction, give the number of each type of atom or polyatomic
ion on each side of the reaction by filling in the blanks. Show work for partial credit. (3 pts)

2KI + Pb(NO:s)2 > Pblz + 2 KNO;3

# of K atoms (reactant) # of NO3™ (product)



Quiz II1 General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 9/26 F 9:30am form B quiz #

Name Name
(print name) (sign name)

Please show all work for full credit and to get partial credit. Na=6.022 x 10

1. Give the nomenclature term or number prefix or give the molecular formula which matches for the
following. (4 pts, 2pts each)

NOs octa is the number prefix for

2. Give the name for the compound MgBr: (4 pts)

3. For the molecule given, what is the formula mass ? amu (2 pts)

What is the molar mass ? grams (show work). (2 pts) Naz SO4

4. For the molecule shown below (molar mass of Mg(C:H302): = 142.41 g/mole), if you have 1.99
grams of the compound Mg(C:H302): , what is the number of atoms of C in that number of grams of
the compound (8 pts) Show work to receive full credit.

Extra Credit: Given the following balanced reaction, give the number of each type of atom on each side of
the reaction by filling in the blanks. Show work for partial credit. (3 pts)

Ca:Hg > 4, + 3C
# of H(reactant) # of H (product)



Quiz [Tl General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 9/26 F 10:30am form A quiz #

Name Name
(print name) (sign name)

Please show all work for full credit and to get partial credit. Na=6.022 x 10%

1. Give the nomenclature term or number prefix for the following or give the molecular formula which
matches. (4 pts, 2pts each)

Carbonate di is the # prefix for

2. Give the name for the compound Cas (PO4)2 (4 pts)

3. For the molecule given, what is the formula mass? amu (2 pts)

What is the molar mass ? grams (show work). (2 pts) (NH4)2 O

4, For the molecule shown below (molar mass of Ba (NOs)2 = 261.35 g/mole), if you have 78.2 grams
of the compound Ba (NOs)2 , what is the number of atoms of O  in the grams of the compound (8
pts) Show work to receive full credit.

Extra Credit: Given the following balanced reaction, give the number of each type of atom on each side of
the reaction by filling in the blanks. Show work for partial credit. (3 pts)

2 Na+ 2H;0O = 2NaOH+ H;
# of H(reactant) total # of H (product)



Quiz I General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 9/26 F 10:30am form B quiz #

Name Name
(print name) (sign name)

Please show all work for full credit and to get partial credit. Na=6.022 x 102

1. Give the nomenclature term or number prefix or give the molecular formula which matches for the
following. (4 pts, 2pts each)

S04? # prefix for 3 is

2. Give the name for the compound HBr (4 pts)

3. For the molecule given, what is the formula mass ? amu (2 pts)
What is the molar mass ? grams (show work). (2 pts)  Ba(C:H302)2
4. For the molecule shown below (molar mass Liz SO4 = 109.95 g/ mole ), if you have 0.892 grams

of the compound  Liz SO , what is the number of atoms of O in the given # of grams of the compound
(8 pts) Show work to receive full credit.

Extra Credit: Given the following balanced reaction, give the number of each type of atom or polyatomic
ions on each side of the reaction by filling in the blanks. Show work for partial credit. (3 pts)

2 HNOs + Ca(OH). < 2H,0 + Ca(NOs),

# of OH" (reactant) # of NOs™ (product)



